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QUESTION 1
Which two statements are correct about Cisco Validated Design or CVD? (Choose two)

A. CVD consists of systems and solutions that are designed tested and documented to facilitate and improve
customer deployments

CVD is a prescriptive, scalable, flexible design to quickly deploy a full-service network.

CVD gets the design working the first time by using validated configurations and topologies.
CVD implementations are mainly partner-led

CVD consists of three primary modular yet interdependent components

moow

Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:

QUESTION 2
Which is a software feature available in Cisco 10S Software recommended to be positioned at the network
access layer?

Flow Metadata

Media Services Proxy
NBAR2

Mediatrace

Cow>

Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 3
In which wireless deployment mode is no wireless controller used?

Autonomous
FlexConnect
Centralized
Converged Access

CSow>

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 4
Which high availability design consideration produces savings by reducing the number of power supplies
required per switch and the number of outlets required in the wiring close?

A. StackPower



B. Spanning VLANSs
C. QoS
D. Gateway redundancy

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 5
Which option touches on the data flows involved with management applications of the Cisco EnergyWise
architecture?

Protocol Operation
Monitoring Power
Controlling Power
Cisco Prime LMS

Cow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 6
The concern of one of your customers is, "How do | quickly isolate and resolve application performance
problems with the Cisco ISR-AX solution?" Which feature of the Cisco solution is a response to this query?

A. With the Cisco solution, you can reduce Application Latency by accelerating applications with full
optimization across the WAN

B. With the Cisco solution, you can gain Visibility into encrypted wireless traffic

C. With the Cisco solution, you can provide application visibility to 1000+ applications with metrics such as
Application Response Time, Jitter and bandwidth

D. The Cisco solution provides WAN optimization for every size site
Correct Answer: C

Section: (none)

Explanation

Explanation/Reference:

QUESTION 7
Which is a feature of Cisco AnyConnect Secure Mobility Client?
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A. Is available across the broadest set of platforms, such as Windows, Mac OS X. Linux. iOS Android, and
more

B. Analyzes every Web request to determine if content is malicious inappropriate or acceptable based on the
defined security policy

C. Provides superior connectivity features by giving administrators the ability to control which networks or
resources endpoints are able to connect to

D. Offers a comprehensive suite of powerful security features except VPN access features

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 8

One of your customers is looking for small deployments especially in high-usage areas of their network While
all of the following hold true for Cisco Medianet which is a point to highlight so that your customer is encouraged
to buy our solution'?

Cisco Medianet is designed to work with third-party end points

Cisco Medianet can co-exist with legacy network elements

Cisco Medianet provides greater visibility and granularity

Cisco Medianet can be deployed in phases allowing customers to realize benefits quickly

Cow>»

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 9
Which advanced WAN optimization functionality is provided by WAAS?

Application-specific acceleration
Optimum resource usage
Visualization platform
Automatic route optimization
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Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 10
In designing a BYOD solution, which implementation is based on extending traditional guest wireless access
and providing similar guest-like wireless access for employee personal devices'?

Enhanced
Limited
Basic
Advanced
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 11
What is the first step in implementing Cisco EnergyWise?

Reduce consumption by optimizing power delivery policies

Analyze data to make decisions on cost-saving policy actions

Measure how much power is being consumed by each device on the network
Show cost savings

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 12
Which item identifies how customers can leverage the Cisco Cloud Intelligent Networks framework'?

WAN refresh and WAN optimization as part of DC consolidation

Physical and virtual platforms integrated for end-to-end Application and User Experience
Simplified operational model across the enterprise and cloud

WAN add-on capabilities such as application survivability
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Correct Answer: C
Section: (none)
Explanation

Explanation/Reference:

QUESTION 13
What is the goal of Cisco Borderless Network?

To promote energy efficiency in data centers

To connect anyone anywhere, on any device

To allow people to communicate on any device within the parameters of their networks
To allow people to keep in touch with family members all around the world

Sow>

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:
QUESTION 14

Which application consideration is important for collaboration capabilities, including voice video and instant
messaging to users of mobile devices such as Android and Apple iOS smartphones and tablets?



A. Quality of Service
B. Dual SSID Design
C. Rate Limiting

D. Single SSID Design

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 15
Which solution is a classification engine that recognizes and classifies a wide variety of protocols and
applications?

A. Next Generation NBAR (NBAR2)

B. Application Visibility and Control (AVC)
C. Performance Routing (PfR)

D. Medianet

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 16
Which service helps in providing cloud-based security services?

Cisco Hosted Collaboration Solution Connector
Cisco Cloud Web Security Connector

CTERA Connector

Cisco WAAS
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Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 17
What are two characteristics of the campus architecture hierarchy tiers? (Choose two)

A network may have four or more physical tiers of switches if necessary
There are absolute rules for how a campus network is physically built
Having three physical tiers is a strict requirement

The network can have two tiers of switches combined into one

Each layer in the hierarchy can perform the functions of the other layers

moow»

Correct Answer: AD
Section: (none)



Explanation

Explanation/Reference:

QUESTION 18
Your target customers is looking to deploy video, but has concerns As a sates strategy, which benefit should
you focus to sell the Cisco solution?

A. Suggest starting with migrating to Cisco Medianet in strategic locations

B. Inform the customer that Cisco Medianet can give visibility to understand the impact of each application on
the network

C. Focus on the benefits of measuring and troubleshooting for business-critical applications
D. Highlight that Cisco Medianet enables faster troubleshooting for video voice and data applications

Correct Answer: D
Section: (none)
Explanation

Explanation/Reference:

QUESTION 19
Which two statements about Cisco Cloud Web Security are correct? (Choose two)

A. Cisco Cloud Web Security can only be integrated with Cisco switches

B. Cisco Cloud Web Security is powered by Cisco Security Intelligence Operations (SIO). a cloud-based
service

C. Cisco Cloud Web Security provides unmatched cloud-based Web security and control only to very small-
sized organizations

D. Cisco Cloud Web Security extends Web security to users on the go with the Cisco AnyConned Secure
Mobility Client

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 20
You need lo easily manage the security risks of borderless networks. Which mobility solution uses next-
generation remote-access technology to allow users to securely access the network with their device of choice?

A. Cisco AnyConnect Secure Mobility Client
B. Virtual Desktop Infrastructure Access

C. Cisco Medianet

D. Cisco TrustSec

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:



QUESTION 21
Which two statements are correct about Performance Monitor? (Choose two)

Performance Monitor fails to maintain the historical data about analyzed flows traversing routers
Performance Monitor analyzes RTP-based audio and video flows and reports on service- affecting metrics
Performance Monitor does not facilitate cross-vendor application support

Performance Monitor is one of the features of Media Monitoring solution

Performance Monitor can be applied only to Cisco WebEXx client applications

moowy

Correct Answer: BD
Section: (none)
Explanation

Explanation/Reference:

QUESTION 22
Which Application Experience technology is a converged networking, computing, and virtualization platform for
hosting essential infrastructure services and mission-critical business applications in the lean branch office?

WAAS

UCS Express
NetFlow
NetworkBAR

CSow>»

Correct Answer: B
Section: (none)
Explanation

Explanation/Reference:

QUESTION 23
Which switch offers the industry's highest 480 Ghps stacking bandwidth to meet network demand?

Cisco Catalyst 3850 Series Switches
Cisco Catalyst 2960 C Series Switches
Cisco Catalyst 3560 C Series Switches
Cisco Catalyst Access Switches

CSow>

Correct Answer: A
Section: (none)
Explanation

Explanation/Reference:

QUESTION 24
Which two options describe the business benefits of Borderless Networks for end users'? (Choose two)

Privacy and security
Compliance and policy
Bandwidth costs
Budget constraints

Sow>



E. Better video quality
Correct Answer: AB
Section: (none)
Explanation

Explanation/Reference:
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